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OZ282 s XS A(L=130m)
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2N 230
2 NSMNLAS(2ELNGMNLE/NISL A
Eelr A7 2 XNGAY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FOEAALY 101,000 101,000 0
401 Al HIZ 201 Y] 101,000 101,000 0
01 A& HI 100,000 100,000 0
Oz 7 2 THOH Ol 2 AH 25,000,000 20 At & 50,000
OZMDtS HEHEXSAH(EE 14
20,000,000& » 14! 20,000
OUIEOIE MEFHISA(EE L &AW 14 A
=80m* ) 30,000,000& » 14! 30,000
03 Al S THHI 1,000 1,000 0
OFQIEAALS 2 CHHI 1,000, 000& 1,000
FU=RALY 70,000 40,000 30,000
401 AIEHIZL 2 0] 70,000 40,000 30,000
01 A& Hl 70,000 40,000 30,000
OZE0S=L E 424 X3 AH(L=250m,0=300mm)
20,000,000& =14 20,000
OUWEX T ==2Z &3 AH(L=100m,B=4m)
20,000,000& =14 20,000
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— Yd=AxH 5,800
ol =l 50,000& x116Y +1H 5,800
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04 BIZHHAIE RS 14,000 12,000
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OCHEUZE #AEHI 1,000, 000& 1,000
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